Potencias de 10 (I)

Calcule los siguientes productos y cocientes.

3,039 x 0,001

1,309 0,001

5,388 +0,001

6,001 = 0,001

7,9350,001

7,912 % 0,001

2,822 +0,001

0,508 x 0,001

4,237 x 0,001

2,422 +0,001

6,401 0,001

5,631 x 0,001

8,353 0,001

5,753 x 0,001

3,714+0,001

0,56 x 0,001

8,232 20,001

0,309 x 0,001

5,945 x 0,001

8,197 x 0,001
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Potencias de 10 (I) Respuestas

Calcule los siguientes productos y cocientes.

3,039 x 0,001
0,003039

1,309 + 0,001
1.309
5,388 0,001
5.388
6,001 = 0,001
6.001
7,935+0,001
7.935
7,912 x 0,001
0,007912
2,822 0,001
2.822
0,508 x 0,001
0,000508

4,237 x 0,001
0,004237

2,422 +0,001
2.422

6,401 +-0,001
6.401

5,631 x 0,001
0,005631

8,353 0,001
8.353
5,753 x 0,001
0,005753
3,714 0,001
3.714
0,56 x 0,001
0,00056
8,232+0,001
8.232
0,309 x 0,001
0,000309

5,945 x 0,001
0,005945

8,197 x 0,001
0,008197
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